
Pegel Heimborn

alle Ereignisse kleiner HQ 1

Scheitelabfluss = Zeit 0 
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ID   Scheitelabfluss

2   02.Okt.96

3   01.Nov.96

4   21.Nov.96

6   12.Feb.97

7   18.Feb.97

8   25.Feb.97

9   12.Dez.97

10   05.Mär.98

11   13.Jul.98

12  15.Sep.98

14   08.Okt.98

15  15.Okt.98

18   28.Jan.99

22   30.Jan.00

23   25.Feb.00

24   08.Mär.00

26   29.Sep.00

29   08.Nov.01

30   30.Nov.01

33   20.Feb.02

35   21.Mär.02

36   05.Mai02

39   11.Nov.02

40   22.Dez.02

42   02.Jan.03

43   14.Dez.03


